HSC i & 85 A il
* Bore:225-g63mm < Pmax:100kg/cm?

s FEMBAREESHCERAKURMCER - RREEMERREREF -

o IEVRERHBELIEET - SFETRITETERZRBEREINAE - BoZEREET
BERIERIET S -

o BEBERMEEAIL  BMERERHIM BERERIR - UREBITEF  BFOREFL
t  BEBIRITIERNEEMT -

o BIRFEMRER » B2KXRERZ1.5 -

o FREMBERMAEMBSAKERN - NERHINLERE - REXR - EASHE -

F

Product Introduction

® The product is ideal for mass production on a special purpose machine and jig on
machining center. It will greatly upgrade production efficiency.

e \When the hydraulic cylinder actuate, and the piston moves downward, the clamping arm
will swing to a rated angle. Then it lowers until the workpiece is clamped securely.

® To avoid too fast motion a flow control valve is suggested to connect to the hydraulic
swing clamp cylinder. Do not clamp workpiece while the calmp is swinging to avoid
damaging on the cylinder barrel and internal parts.

® When increasing length of clamping arm is required, be sure do not exceed 1.5 times of
the original length.

® The cylinder body is manufactured from structural carbon steel. Surface is specially
treated for maximum smoothness on inside surface and long service life.

BRI Specifications

SHELPIFE Bore of cylinder mm 225 @32 240 250 263
TEERE Piston rod diameter mm 218 220 222.4 228 235
EETIE Swing stroke mm 9 11 11 13 13
B|E(TIE Z8/0K Clamping stroke std/incr mm 13 15/30 15/30 17 /34 17 /34
ZERETE fIA/MEE Pressure area pull/push cm? 2.37/4.91 4.9/8.04 8.63/12.57 [13.47/19.63 |21.55/31.17
TSRS /] Theoretical clamping 30kg/cm? 71 147 259 404 647
EFfES Fluid EIREATEREM Filtered hydraulic oil
BRARIEEN Max operation pressure 100Kg/cm?

BRFEBNEEE Operation pressure range 5-70Kg/cm?

[2)=2)] ] Rotating direction Bt R EERSVERFETZZEEL Turn right R or turn left L

EEAE Rotating angle ZERE 90 BIEME 0°.45°.60°  Standard angle 90°, Optional angle 0°, 45°, 60°
{EEN75N Acting type #2230 Double acting

E]B8#ZERE Ordering Code

HSC - MF 25 S R X 90 - E
e B3 SREL AR ERE EHESE EHEAE TIEMRE
Series Type Bore of Cylinder Clamping arm type Rotating Direction Rotating Angle Stroke extension

Line. MF type
L{ 90:90° |[45:45° |[60:60° ]

L| RIEFEt A8 || LIRS ZAE | N:0"Riei
R: Turn right L: Turn left N:0° No swing

25:¢25mm S:EEER D: 82 FEiR
32:¢32mm S: Single side arm || D: Double side arm
40:640mm

50:450mm

63:663mm

EH:ERERN MFHERRPIEEE M : 3 B% 4 B FASERE || FAMGEREMER (| TB:=HF 8
Blank:Line type | | MF:Manifold with flow control | |[M: Manifold type|| FA: Flange type || FAM: Flange with manifold | | TB: Threaded body

kK




HSC HEE A&

Hydraulic Swing Clamp Cylinder * Bore:225-63mm + Pmax:100kg/cm?

2R xieS = E
Single Side Swing Clamp

REE 1T 2
Swing Stroke

TR{TE
Clamping stroke

L EBREETRER BERAREHSRIRIEIS TN

Double Side Swing Clamp Clamping Arm Mounting Methods

BERITENRIEIS TN

‘ é} ’ Clamping Arm Removing Methods

A ak: www.fdzc.net £ 4 A F2 R4 F 4u: 13601809714
I 4% 9.5 : 021-51872743 E-mail:chengff@sh163.net



xh Bx 7 AT FAZRE/TBEF B
HSC 7EE B E% 4% Flange type / Threaded body
Hydraulic Swing Clamp Cylinder FA.TB * Bore:¢25-g63mm - Pmax:100kg/cm?

@7,

of T
e !

Bl z E2 Z 8 |y T,
¥ EE T ¥ = =
R | : :

< <
° ° ® ®
® ® L
ik ‘ il dhe |l %\M L%J\MZ
LLJ\M T M1 T ‘ == T ‘ ==
ol1 ol I~ 1|2 e [ 1|2 i
. B2 2} @
@ gﬁﬁ'\ﬁl’g Port ?Jyn*afrr?{;l;ing Port ‘ T2 ‘ ‘ T2 ‘
MODEL HSC-FA25 HSC-FA32 HSC-FA40 HSC-FA50 HSC-FA63
ITEM HSC-TB25 HSC-TB32 HSC-TB40 HSC-TB50
ST:Swing/Claming 22:9/13 26:11/15 26:11/15 30:13/17 30:13/17
A1 101 115 120 134 139
A2 (124) (140) (148) (166) (175)
A3 120 137.2 142.2 159.4 170.8
B 76 85 20 100 105
C1 22 25 25 30 30
C2 12 12 15 15 =
D1 15 17 18 20 23
D2 27 31 31 37 48
D3 019 022.2 022.2 025.4 31.8
E1 M10 x 1.5 M10 x 1.5 M10 x 1.5 M12 x 1.75 M16 x 2.0
E2 o8 8 210 212 215
E3 M14 x 1.5 M16 x 1.5 M18 x 1.5 M20 x 1.5 M26 x 1.5
F 10 10 10 12 15
G1 50 55 60 65 75
G2 140 160 160 180 200
H 9 10 10 12 15
ol1 245 50 258 268 281
ol2 M45 x 1.5 M50 x 1.5 M55x1.5 M65x1.5 —
J 53 57 69 75 920
K 40 44 52 58 70
26.8-910.5 x 6.5D. | 96.8-210.5 x 6.5D. 29-014 x 9D. 29-014 x 9D. 211-¢17 x 11D.
M1 PT1/4 PT1/4 PT1/4 PT1/4 PT1/4
M2 PT1/8 PT1/8 PT1/8 PT1/8 —
N 28 32 40 50 63
T1x2PCS 10 11 11 12 —
T2 @65 70 75 285 =




